MATH 11012

1. f(z)=22* 322+ 50 +2

1
3. f(:c):3x2+§:c_2+w—5

4. f(=x) — 22— 328 — 52724

5. f(x)=a2* =83 +222 —x+1

6. f(x)="Tas —ba?+3z—17

7. fx) =923 +222— 14

SECTION 1

10.
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12.

13.
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GATEWAY PROBLEMS

flz) =22t +272 - 301

f(x) =122% 4+ 323 + 5272 — 4

f(:c):3$3+2x%—x+1

f(x):4\/§—\;j§+5x—7
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L. f(z) = (2> + 722 +5)5

3. f(z) =12(22° — 3)5

4. f(z) =6(322—2z+1)2

5. flz) =322+ 1

SECTION 2 GATEWAY PROBLEMS

6. f(z)=6Vat+a22+2

7. flx)=va2+22+3

8. f(zx)=6(22% — 3z — 5)10

9. f(x) =17(623 — 422 +2)73

10.  f(x) =5(22% — 62+ 1) 7
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MATH 11012 SECTION 2 GATEWAY PROBLEMS

11 f(z) = 4(72° — 3z + 2)* 16.  f(z) =5/ (2% +2)2

12, f(z) = —3(42° — 8z +6)"5 17.  f(z)=2/(3x +5)2

13.  f(x) = 8(42% — 5z + 3z~ H)* 18, f(z) =9(42% — 220 +1)78
4. f(z) =9(2* + 32 — 2) 72 19.  f(z) =123/4a3 + 2/ — 5
15, f(x)=8(32% + 13z — 4)"1 2.  f(z) =86y +2r -3
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1.

f(z) = (2* — 322 +5)(32* — 272)

f(z)= (233272 + 2)(27% + 62 — 2)

f(z) = (22 + 5)(32 — 62 — 11)

f(z) = (223 — 322 + 273)(42? — 62 + 1)

F(x) = (41 + 3273) (227 + 621 + 2)

SECTION 3

10.
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GATEWAY PROBLEMS

2

f(z) = (T2% 4 62 — 2)(40~5 — 627 5)

flx) = (322 4+ 2z — 1)(2% — 1)

f(z) =6xv1 — 22

flo) = (922 + 4)yz -2

flz)= (2" +1)°Va +1
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11.

12.

13.

14.

15.

fla) = (20— 4)(322 + 2)°

f(z) = (22 — 3)3(4x + 2)°

f(@) = (Te + 3)%(32 — 14z + 5)2

f(z) = (823 — 2)(32% — 5z + 10)*

F(@) = (20 = 3)°(3x +4)
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19.

20.
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GATEWAY PROBLEMS

f@) = (22° = 1)’ (2" + 2)7

flz)=Bz+1)Va2 -5

f(z) =52z + 1)*(2? 4 2)3

f(z) = 3(42% 4+ 2)3(2z — 1)2

fz) = (4o = 9)"VTx +2
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f) = f”f/;?’
@) = <2
J(@) = m\{fl

f@) =

GATEWAY PROBLEMS
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1. f(z) = 3961:5_22—96;3 16.  f(x) = wfj 1

12, f(2) = 622‘2”*5 @)= g
13, f(x)= m 18 J@) =5z 330 T
4. f(z) = W 19 fl@) = ;li . ?

15, f(z) = i: 0. =" _57;2 =
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2+ 1
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f(@) 2 +4
(3z —2)3
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f(z) 20+ 1
3z® — 622 + 11
13. =
1@ = G st 9)8
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14, fz) = ——
2+ 3
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1,‘2 5
16.  f(z) = m

20 —7)°
17. f(x):((7$2_1))2

GATEWAY PROBLEMS

220
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o —1)2
18 fla) = Ea: + 35
9. f(z) = W
20 f(x) = (723 + 5z + 1)%
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1. f(x) =56 +3e2 — ¢ 41

2. f(x) =2e* — 55 4 32 — 4

3. f(z) = (2% + 31)ed®

4. f(x)=3e"—4e " -5

SECTION 6

10.

Page 11 of 14

GATEWAY PROBLEMS

f(x) = (6e* — e + 2)(42® — 5z + 2)

f(z) = € + 2% — 3eV™ 4+ 7

46‘%272

1@) = s e
14 e
f(x) - 2 _ 62$
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1. flr)=e¥"1—de -9

12, f(z)=e 2% 4 4e 3% 17

13.  f(x) = 8e**T1(32% — 62 + 1)

e3r — 5

15.  f(x) = 223e®

SECTION 6

16.

17.

19.
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GATEWAY PROBLEMS

f(x) = 92%e?®

5 x2—1
f(f”):2jc+3
249

flwy =20

f(x) =3eV= 4 4 70 — 2
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1. f(x)=In(2?® — Tz +2)

2. f(z) =3In(z? — 52+ 11)

3. f(z) =2In(72* — 322 + 2)

4. f(x) =e*In(z® +9)

SECTION 7

10.
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GATEWAY PROBLEMS

f(z) =5In(3x) +4lnx +5

f(z) =7In(2z) + 3lnx — Ine* + 3

flx) = Invaz2 +e™ +2

f(x) =522+ Tz —2)Inx
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11.

12.

13.

14.

15.

f(z) = /In(3z + 8)

f(z) =+v3x+5lnx

f(z) = (322 — 92 + 2) In(4z — 7)

f(z) = In(3ze”)

SECTION 7

GATEWAY PROBLEMS

17.  f(z) =In(In(e® + e~7))

18.  f(z) =8¢ In(x3 + 2z + 8)

In(2z + 5)
19. = —r
f(z) 3r+1
9. 222 + e

f) = In(4z —5)
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